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63.

Sef

Indian cricket team is confident winning this match.
A)to B) in C) of

A bird in hand is better than in the bush

A) two B) one C) many
Choose the correct spellings.

A) Rythum B) Rhythum C) Rythym
Fill in the blank with suitable article.

" Would you like to have apple."

A) the B)a C) an

Father: Mother :: Czar :

A) Czaress B) Czaren C) Czarix
Please write me this address.

A) upon B)on C) at

Mango: Mangoes :: Dynamo :

A) Dynamos B) Dynamoes C) Dynami

We must wait untill the invigilator the question papers
A) would give B) will give C) given

A disease which ends in death of patient is a disease.
A) contagious B) lethal C) fatal

He speaks Kannada home.

A)in B) around C) at

Add a question tag by using correct altrtnative.

" You aren't busy

A) isn't you? B) are you? C) isn'tit?
The moment is lost is lost forever.

A) that B) which C) when

I wish I millionaire.

A) was B) were C)am

D) towards

D) all

D) Rhythm

D) no article.

D) Czarina

D) to

D) Dynamoce

D) gives

D) deadly

D) inside

D)can you?

D) what

D) shall be
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There is no doubt that one has to keep with changing time.

A) aside B) tunning C) oneself D) pace
Deshpande's jeep broke yesterday near Gaganbawada.

A) up B)out C) into D) down

I suggest that the meeting _ postponed

A)is B) would C) be D) should

He is afraid being late .

A) from B) of C) by D) for
Everyone wishes to lead a life.

A) respected B)respectful C) respectable D) respective
Choose the correct spelling.

A) Corrigendum B) Corigendum C) Corriggendum D) Coriggendum
Choose the correct spelling

A) sycology B)psychology C)Phychology D)Pchyology
Choose the correct spelling.

A) Sattellite B)Satellite C) Satellite D) Sattelite
Choose the correct spelling.

A) Grametic B)Grammetic C) Grammatic D) Gramatic
A thief broke his house last night.

A) up B)out C) into D) down

I will talk to him when he

A) comes B) will come C) has come D) would come

Give the antonyms of word : Terminate

A) Alien B) Rival C) Continue
It has been raining morning

A) for B) from Otill

Give the antonyms of word : Round

A) flat B) Square C) Traingle
Old: New :: Prohibit :

A) Accept B) Permit C) Agree

D) Stay

D) since

D) plain

D) Grant
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The plural of 'half 'is ___

A) halfs B) halves C) two halfs
Up: Down :: Flexible :
A) Rigid B) Solid C) Hard

Choose the most suitable 'one word' for the given expressions:

Run away from home with lover'

A) love B) elope C) abduct
Put your signature blue ink.

A)in B) by C) with
Give the synonyms of word : Length

A) Extent B) Type C) Long
He was sorry what he had done.

A) over B) for C) at
Government had no control the floods

A) for B) from C) over
Which is the correct pair of teacher & taught

A) Drona-Kacha B) Ashok-Vikramadity C) Ashok-Drona
Fill in the blank with suitable prepositition..

" Anna Hazare is a man principles."

A) of B) in C) by

Choose the correct spelling
A) Dictionery B) Dectionery C) Dictionary

Choose the correct alternative for the statement given below :
If it does not rain

A) the crops had dried  B) the crops has dried C)the crops will dry up

Which is of the following is not an adverb
A) simply B) silly C) sincerely

The house is quiet (Make negative sentence )

D) half

D) Brittle

D) kidnap

D) through

D) Measurement

D) of

D) to

D) Shukrachrya-Kacha

D) for

D) Dicitionary

D)the crops had been dry

D) signally

A)The house is not noisy  B)The house isn't calm  C)The house isn"t quiet. D) The house not heard.

Plural form of the word 'leaf’ is
A) leafs B)leafes C) leaf

D) leaves



93 . Extreme fear of something is called
A) Mania B)Phobia C)Nausea D) Diarrhoea

94 - In the letter writing ___ is always writen at the top right hand corner of the first page.
A) subscription B) signature C) heading D) superscription

95. Pick out the correct pronoun to fill in the blank in the following sentences.

I know the man------------- painted this picture

A) which B) she C) he D) who
96 - Fill in the blank with suitable verb form :

Sandip if he has time ( to come).

A)came B) coming C) will come D) has come
97 - is a word used to join words or sentence.

A) interjection B) conjuunction C) preposition D) adverb

08 . Choose the correct antonym of - equality.

A) equal B) unequal C) inequality D) unequallly
99 . The system of government by paid officials.
A) aristocracy B) technocracy C) bureaucracy D) oligarchy
100 - We congratulated him his success.
A) on B) of C) for D) to
QA ATA
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